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TRANSFORMATION OF LOCAL COORDINATES FOR

SETTING OUT CIRCULAR CURVE
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AY = — Axsina + Aycosa
/PIYO=B-3=0- 90l/=R P
P X, = AX

X, =S =2Rsin 90I/7R cos §-90l/7R Y, =AY

xoy

A W D =

(9]



X0y

1 2 3 4 5 6
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Y,= - x,—-x sina+ y,—y cosa 8 « =S+ Reos 90+
* y1 = — Rsin 90+ 3
a
5 2 3 X0y
X;0,Y,
3 a= 90+90L/%R -3
x; =S — Rsin 90L/nR cos 90L/7R -3
ca vi = - Rsin 90L/xR sin 90L/zR - B
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a=180-8 x,=S y; =0 o, = 18°22" R = 1000m C=
2 xoy 20m L =320.56m Y
X X,0,Y, DK3 + 866.38 B=45° S=120m o0
a= 90+90L/7R - B L 00 1
1
X0y XpAYy X;01Y, X,0,Y,
a 0°00"00" 135°00"00” 54°11'00" 54°11'00"
Xo 0.000 120.000 - 587.107 -9.414
Y, 0.000 0.000 -707.107 93.394
X Y X Y X Y X Y
DK3 + 866.38 120.000 0.000 0.000 0.000 987.183 —159.595 0.000 - 159.595
+ 880.00 110.304 9.565 13.619 0.093 989.265 -146.135 2.082 —-146.135
+900.00 95.832 23.369 33.614 0.565 991.990 -126.321 4.806 -126.321
+920.00 81.087 36.881 53.594 1.437 994.318 - 106.458 7.135 - 106.458
+940.00 66.074 50.095 73.554 2.709 996.248 - 86.551 9.046 - 86.551
+960.00 50.801 63.006 93.483 4.379 997.779 —-66.611 10.596 —-66.611
+980.00 35.272 75.609 113.375 6.448 998.912 —-46.643 11.728 —-46.643
DK4 + 000.00 19.494 87.900 133.223 8.914 999.645 -26.656 12.462 —-26.656
+020.00 3.474 99.872 153.016 11.776 999.978 -6.660 12.795 - 6.660
QZ + 026.66 -1.914 103.787 159.595 12.818 1000.000 0.000 12.817 0.000
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